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Marking Schemes

Inequalities and Regions (Linear)







Q1.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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Q11.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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Question | Working Answer Mark Notes
@ Correct line drawn B2 Must be a single siraight line passing
throughat least 3 of
(0.4)(23) (4.2) (6.1) (8.0) (10,1
2 If not B2 then B1 for a single straight
line with a negative
‘eradient passing through cither (0.4) or
©0
oratleast 3 of (0.4) (23) (42) (6.1)
(80) (10.1) plotted or _calculated
® rawn BI
y=1drawn Bl
Correct region identified Bl Ignore extra lines
3 Accept R shaded or R shaded.

Condone omission of label R

Total 5 marks
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Ques | Workin; Answer Mark Nates
MI | for either y = 2x+ 1 or x +y = 10 drawn correctly
M | for all lines drawn correctly
Correct region 3 | AT | forall 3 lines correct and the region identified

Lines may be full lines or broken lines

Total 3 ma
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Question Working Answer | Mark Notes
Number

©] x=3y=2] 1 | BI cao

®) Use of gradient and 4| M1 Throughout question
y=mxtc 2
lor clear attempt to use accepti antents s

prerhcaldifference;, £ ) decimal rounded or

horizontal Gifference truncated to 2 or more
2 decimal places
2 oe

(ignore omission of —
sign)

2
or gradient = 3 stated

lor used

AL
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+10 oe or|

2x+3y=300¢

2
ft from "~

or y="-2"x+10 o
(b) |Alternative scheme:
Use of 2x+3y=k
2x+3y=k L
2% 0 + 3x10 (=K) M1 _[Substitution of (0, 10)
into 2x+3y=k
[k =30 Al
Tx+3y=30 A
od
(o) (1,1) (1,2) (1.3) (2.2) 3 B2 B1 for 3 correct points

marked|

marked and none wrong
or

for all correct points and
either one or more of
points on y axis ie
(0,-1) (0,0) (0,1) (0,2)
(0,3) (0,4)

points on y=x-11ie
0,-1) (1,0) (2,1) (3,2)

Total 7 marks|
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Question | Working | Answer | Mark | Notes

0] <x<2| 4 |82 Alsoaccept—Z<x

expressed as two separate inequalities

or answer

B1 for either —17<x or -2

or x <2 (these may be part of a
double-ended inequality)

(ii) = 012 B2 B1 for 4 correct and 1 wrong

or for 3 correct and 0 wrong

Total 4 marks
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Q| Working Answer Mark Notes
O -2-2<x M
andx=5 -4<xs<3| 2 condone omission/addition

of “equals™ in inequalities
Aleao

acceptx>~4 and x<3
(both present)

@

BIR
£t foran inequality where
range lies between— 5 and +5

Ifnot B2ft then B1t for
correct values but wrong
shading of end

Total 4 marks.
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Q [Working | Answer [ Mark Notes
(a) | 3¥=35-8 2 | Ml allow 3x=35-8 or3x=27
or3x <27 condone incorrect inequality sign
x<9 AT forx<9 or9>x
NB: Final answer must be an inequality
SC: Bl forx=9orx=9 or9 as an answer
®) —2<x B2 BI for one end of inequality correctie. —2 < x orx . 4
4 oe OR 2. x<4

condone the use of a variable other than x but not O

Total 4 marks
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@) | 9<3r<6 or3x >—and3x< 3 |M2  Forboth ends correct for 3x or
x+3 or one end correct for x
MI for one end correct for 3x or
x +§ egdx >9or

3x=6or
answers of x=—3 & x=

Al Accept x >3.x=2

2 |[B2fi Bl for five comrect values and
one incorrect value or four
correct values with no incorrect
value

Only ft from an inequality in the
form a<x<h

Total 5 marks
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[Question]  Working Answer | Marks Comments
@ |[5-4<x<3-4 ML subtraction of 4 from cither side in]
an inequality or one side of
2 inequality correct (eg x < —1) or
for —5—4(=—9) and 3 1
Al Acceptx>-9, x<-1
® 2 [B2 Bl for one omission or addition

Total 4 marks
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Q Working Answer | Mark Notes.
W xz6-130e M1 Condone2x >6-13 oe
AL mark response on answer

x2-350e| 2 |line (donotisw)
correct answerwithno

working= M1A1
) =3,2,-1| 2 |B2anyorder Blfor-3,2-1,

0

Total 4 marks.
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‘Working Answer | Mark Notes.

e<2| 1 |BI Mustbe the final answer.

5—4<3e or 3e<4

M1 Condone use of <or=

2 | Al Must be the final answer
Accepte>0333(333...)

Bl

Total 4 marks
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‘Working

Answer

Mark

Notes

4x= 27-13or

M1

Al

Accept an cquation in place of an
inequality or

accept wrong inequality sign or
accept 3.5 oe given as answer

e
Must be the final answer

Correct line
drawn

BI

For a closed circle at —1 with line that
goes at least as far as 3 or

for a closed circle at 1 with an arrow
on a line pointing to the right

21012

BI for list with one error or omission
g
2,-1,0.1.2,
-1.0.1
-2.-1.1,2
-1.0.1,
SCB1for—3.-2.-1.0.1

Total 5 ma
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Mark

Notes

B3 B2 for3 comect inequalities

BI for2 comect inequalities
(Treat double-ended
inequalities as two separate
inequalities)

Accept < and > throughout

Total 3 marks
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Question

Working Answer [Mark |Notes
number
Lines x=5 and) 3 B1 | Lines may be fullor
dravn broken
Liney=xdiann B Iznore additional lines
Rshown BI Condone omission of
Label

Accept shading in or
shading ou, if consistent
Award full marks for
comrect region labelled R
even ifno shading
Total 3 marks





image20.jpeg
Question | Working | Answer | Mark Notes
@ —1<x<4 | 2 |B2 Alsoacceptbothx>—1and x<4
or 42x>1
B1 for a double-ended inequality
which is correct at one end (ignore
the other end) eg. 1 <x <4, -1 <
x>4
or-1sx<4
or award B1 for an answer of
x>-1 or x<4
®O) [2y-6>1 3 M1 szﬂyﬁjil
2927 M1
For method marks condone use
of > instead of >
yz3toe Al
D) 4 1T [BI cao

Total 6 marks
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Question|  Working Answer Mark Notes
@ [(-2.-4),(-1,-1) corectline drawn B3 Fora correct line between x=
(0,2), (1,5), (2.8), |from between x = andx=3
JEXS)) andx=3
B2 Ifnot B3, then B2 for

« atleast 2 correct points
plotted or

o fora line passing through
at least 2 correct points or

o fora line drawn with
positive gradient through
(0.2) and clear intention
to use a gradient of 3 (eg.
a line through and (0, 2)
and
05.5)

Bl Ifnot B2 then Blfor:

o atleast 2 correct points
stated (may be in a table)
or

o foraline drawn witha
positive gradient through
#
©.2or

3 o foraline with gradient 3
®) MI _ft for a point marked above their
»=3x+2ifat least B1 scored in
@
or
for a point to the right of x=2
correct point A1

“

Point marked above y =3x+2

and to the right of x=2 (not on
lines)

Label P may be omitted if
unambiguous

SCBI for the correct region
identified by either shading in or
shading out

Total 5 marks
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Working | Answer | Mark Notes
@ 6.0~ B2 Award BI for any one comect.
® (16,20, MIRPlot any two points, from table with no ft errors,
@) (dependent on B1).
correctline | 2 | Al Straight line joining (-1, 6) to (4, ~4) or better
© M1 Draw lines x=—1andy=2
2 |Al  Correct region identified (R need not be

labelled).
Accept shaded or unshaded.

Total 6 marks
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‘Working

Notes

(@

-1.6) (0.4 (1.
22.03.-2)
@.-4) (5.-6)

For a correct line between x=—1 andx=>5

B3

For a correct line through at least 3 of (-1
6)0.49(1.2)2.03G.2)‘4(6.-6)
OR

forall of (-1, 6) (0.4) (1.2) (2. 0) G. -2)
(4.~4) (5. =6) plotted but no joined.

B2

For at least 2 correct points plotied

BI

For at least 2 correct points stated (may be
in a table) or seen in working

OR

fora line drawn with a negative gradient
through (0. 4) OR

for a line with the correct gradient

®)

M1

fory =4 drawn; accept full or dashed line
NB A shaded rectangle implies a choice of
lines so MO

MI

Forx =1 drawn: accept full or dashed line
NB A shaded rectangle implies a choice of
lines so MO

For comrect
region
identified

AlR

for correct region identified
Condone no label if region clear.
£ from an incorrect straight line in part (a)

Total 7 marks





